Dichotomy:

Cross-condition generalization performance:

Parallelism score:

HPC: DLPFC: ACC: HPC: DLPFC: ACC:

#[ Conditions vs. Conditions: Name: Early: Late: [Early: Late: |Early: Late: jEarly: Late: |Early: Late: |[Early: Late:
1 1,2,3,4 VS. 5,6,7,8 Context 096 0.76/ 0.74 0.44| 0.81 0.65) 0.39 0.24( 0.30 0.13] 0.36 0.22
2 1,2,3,5 VS. 4,6,7,8 N/A 0.65 0.73] 0.58 0.63] 0.63 0.71) 0.14 0.24( 0.13 0.25| 0.15 0.27
3 1,2,3,6 VvS. 45,78 N/A 049 059 055 0.61] 050 0.54 0.06 0.14( 0.11 0.14| 0.13 0.12
4 1,2,3,7 Vs. 4,5,6,8 N/A 0.55 0.49| 053 0.49| 052 048 0.09 0.12( 0.15 0.10f 0.15 0.09
______ 5. 1238 s . 4567  IN/A__  f 047 036 035 025 037 037f 004 000| -0.01 -0.01| 000 0.4
6 1,2,4,5 VS. 3,6,7,8 N/A 0.56 0.46| 0.50 0.50| 0.46 0.49f 0.11 0.11] 0.08 0.12| 0.08 0.10
7 1,2,4,6 VvS. 3,5,7,8 N/A 0.60 057/ 055 0.60/ 0.61 0.51} o0.11 0.11( 0.10 0.17| 0.16 0.10
8 1,2,4,7 Vs. 3,5,6,8 N/A 0.49 0.28| 035 0.23] 033 0.28) 0.04 -0.01( -0.01 -0.02| -0.02 -0.03
9 1,2,4,8 VS. 3,5,6,7 N/A 0.50 0.50| 0.43 0.46| 046 0.59( 0.07 0.08/ 0.05 0.08/ 0.10 0.16
Jdof 1258 vs. . 3478 [|value . f 079 095 088 099 094 100f 023 036 027 046| 041 0.54
11 1,2,5,7 VvS. 3,4,6,8 N/A 049 057 044 0.54| 046 054 0.06 0.19( 0.01 0.21f 0.06 0.22
12 1,2,5,8 VS. 3,4,6,7 Stimuli AB|CD 046 051 0.44 0.53| 044 059 0.05 0.07f 0.01 0.11f 0.01 o0.15
13 1,2,6,7 VS. 3,4,5,8 N/A 0.46 050/ 0.54 0.49| 051 0.51} 0.03 0.06( 0.08 0.02] 0.05 0.05
14 1,2,6,8 VS. 3,4,5,7 N/A 0.37 051 0.48 0.52| 048 0.55) -0.02 0.06( 0.06 0.10/ 0.12 0.14
..... 15| ..1278..vs....3456  IN/A_ . ].028 015 024 011] 021 021 010 -011f 011 -0.11} 013 -0.07
16 1,3,4,5 Vs. 2,6,7,8 N/A 0.56 0.52| 059 0.47| 056 047¢ 0.09 0.12( 0.15 0.08/ 0.15 0.10
17 1,3,4,6 VS. 2,5,7,8 N/A 0.51 0.40| 036 0.30/ 039 0.27¢ 0.04 0.04( -0.02 0.04| 0.00 -0.01
18 1,3,4,7 VS. 2,5,6,8 N/A 0.58 0.62| 0.65 0.62| 0.61 0.55; 0.12 0.13| 0.21 0.13| 0.19 0.16
19 1,3,4,8 VvS. 2,5,6,7 N/A 0.61 0.61] 053 059 051 058 0.13 0.13( 0.14 0.14| 0.15 0.17
2000858 vs. 2478 INA ] 045 051) 047 052| 050 053] 002 017/ 004 0.17| 009 023
21 1,3,5,7 VS. 2,4,6,8 Action 0.43 0.91| 0.75 1.000 090 0.96f 0.03 0.28 0.20 0.49| 0.35 0.38
22 1,3,5,8 VS. 2,4,6,7 N/A 0.43 0.43| 050 0.58/ 050 0.44¢{ 0.02 0.00( 0.04 0.11] 0.04 0.05
23 1,3,6,7 VvS. 2,458 N/A 0.35 042| 045 0.50| 0.44 0.45 -0.02 0.01f 0.06 0.03( 0.04 0.02
24 1,3,6,8 VS. 2,457 Stimuli AC|BD 0.27 0.20f 0.19 0.26| 0.17 0.17; -0.07 -0.08( -0.13 0.00( -0.15 -0.08
_____ 25 ...1378. .vs. . .2456 _INA ) 045 oa40] o053 o054 050 o4l 004 -003| 009 o009 o011 003
26 1,4,5,6 VS. 2,3,7,8 N/A 0.51 0.40| 0.45 0.44| 050 0.44) 0.06 0.01f 0.02 0.03] 0.06 0.00
27 1,4,5,7 VvS. 2,3,6,8 N/A 0.32 0.46| 0.48 0.51| 041 0.42( -0.04 0.04( 0.03 o0.06f -0.01 o0.03
28 1,4,5,8 Vs. 2,3,6,7 N/A 0.45 051 0.65 0.61| 049 0.48; 0.04 -0.02( 0.08 -0.06| -0.04 -0.06
29 1,4,6,7 VS. 2,3,5,8 N/A 0.39 0.26] 030 0.21] 0.30 0.20f 0.00 -0.06( -0.06 -0.02| -0.08 -0.07
30| 488 vs. . 2357  INA 4 043 053] 034 054/ 043 048 003 006 -0.03 0.17| 001 007
31 1,4,7,8 VvS. 2,3,5,6 Stimuli AD|BC 044 045| 051 0.49| 044 0.49 0.02 0.04( 0.05 0.10f 0.01 o0.07
32 1,5,6,7 VS. 2,3,4,8 N/A 060 0.67| 0.63 055/ 0.69 0.70/ 0.13 0.18 0.17 0.17| 0.22 0.26
33 1,5,6,8 VS. 2,3,4,7 N/A 0.59 051 052 0.60/ 054 0.57( 0.13 0.09( 0.15 0.13] 0.19 0.17
34 1,5,7,8 VS. 2,3,4,6 N/A 0.51 047 057 0.55| 050 0.50{ 0.07 0.07( 0.12 0.14| 0.14 0.11
35 1,6,7,8 VS. 2,3,4,5 N/A 0.51 0.30| 0.42 0.24) 039 0.314 0.07 -0.03 0.05 0.00f 0.02 o0.01




